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HE: o= 2 OFX 33
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SN BA(SA) - MRAY - BES 0l &t o il HImEET
=T AL A 4,421,595 5,358,602 A937,007
s UHEN 35 50,716 642,602 A 591,886
0l ===AI4 &2 50,716 642,602 A 591,886
AR AL 22 36,536 35,532 1,004
201 L2l 8,950 7,460 1,490
01 At 22l 4,150 2,900 1,250
Od=x =ZA A ZAH)
50,000 * 1/2 = 8 * 23| 400
OF =+ A A(AH2H, D], B, 24 13])
750,0009 * 1/2 = 10002 3,750
02 2324l 4,800 4,560 240
OAUIDI0tE Otsd=x 238 &JIe=s
800,000& * 63 4,800
202 044l 486 972 A 486
01 = LH o4 1l 486 972 A 486
OARE=EANE =ZHA 22
81,000& = 1H * 2& » 33 486
206 M= Hl 2,100 2,100 0
01 MHZ 4l 2,100 2,100 0
OL=SAE P (KOS LAMLES)
9,000& * 1003 900
OLAZETAE X 22 (MM 7 S) 1,200
401 AIEHI L 20 25,000 25,000 0
01 A& Bl 25,000 25,000 0
OARZHZAIE 22| L FHI(8) 25,000
Q== SsAE FHl 2 22 14,180 7,070 7,110
201 ¢er24l 1,200 1,200 0
02 =224l 1,200 1,200 0
OH==22sA4d #JIe3 100,000& * 128 1,200
206 M= Hl 1,980 1,870 110
01 MHZ 4l 1,980 1,870 110
OYHEESSAE X 22(MHM 7 S)
180,000& * 11J0HA 1,980
401 Al HIZ 201 8] 11,000 4,000 7,000
01 A& HI 11,000 4,000 7,000
OH=EESSSAE 22 & Jl
1,000,000& = 11004 11,000
B (M AgL) 4,370,879 0 4,370,879
HEHHX = 4,370,879 0 4,370,879
HEHAH X = 4,370,879 0 4,370,879
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